
   

 
  

   

  

                   
                     
                    
                      
                      
                



     

       

    

                          
                         
                       
                         
                       
                     


a = input('Side a: ');
b = input('Side b: ');
c = input('Side c: ');

if (a+b)<=c
     error('Sides do not define a triangle.');
elseif (a>c) | (b>c)
     error('Neither a nor b can be longer than c.');
elseif a.^2+b.^2==c.^2
     fprintf('Right Triangle.');
else
     fprintf('Not a Right Triangle.')
end



  
    

     

     
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                       
                   
                        

                       
                        
                     
                  
                      
       

                          
                   
     

         

        

                  
                 
                   
                 

         

        

% Function for part (a)
function m = Payment(L, N, p)
if nargin == 0
     error('Not enough information.')
elseif nargin == 1
     p = 8.25;
     N = 12*30;
elseif nargin == 2
     p = 8.25
end

X = (1+p/1200).^N;
m = (X ./ (X-1)) .* (p.*L/1200);

 
% Script for part (b)
L = input('Loan amount: ');
N = input('Duration in months: ');
p = input('Interest rate: ');
m = Payment(L, N, p);
fprintf('The monthly payment for a %0.0f month loan of ', N)
fprintf('$%0.0f\n with an interest rate of %0.2f is ', L, p);
fprintf('$%0.2f.\n', m)



  
    

       

                 
  



 



        

  

 



 



 

 

 



 

     



  
    

     

                   
                  
                  
                     
                    
                  
               

 

 

 

 

        

 

 

 

 

n = input('Number between 1 and 9: ');
while (n<1) | (n>9)
     n = input('No!  Between 1 and 9! ');
end

for k=1:4
    fprint('%4.2f^%0.0f_=_%9.4f\n', n, k, n^k)
end

%Note - several ways to do logic-
%% while ~(n>=1 & n<=9)
%%
%Note 2 - can also pre-load "bad" answer:
%% n = 0
%% while ...



  
    

     

                    
                  

 

   
      
    
    


   

  

                       
       

t = linspace(-2, 15, 100);

% Preferred method - logical masks (spacing to help readability):
y = ...
           (t<0) .* (0)+...
    (0<=t & t<4) .* (-t.^2+8*t)+...
    (4<=t & t<9) .* (12)+...
   (9<=t & t<12) .* (-4/3*t.^2+24*t-96)+...
         (t>=12) .* (0);

%% Alternate method - for loop with if tree
% for k=1:length(t)
%      if t<0
%           y(k)=0;
%      elseif t<4
%           y(k) = -t(k).^2+8*t(k);
%      elseif t<9
%           y(k) = 12;
%      elseif t<12
%           y(k) = -4/3*t(k).^2+24*t(k)-96;
%      else
%           y(k) = 0;
%      end
% end

plot(t, y, 'k-')
title('Height vs. Time for Bowling Ball (NET ID)');
xlabel('Time');
ylabel('Height');
print -deps TheDude
%% or just
% print TheDude



  
    

       

                 

     

        

              

               

            

     

        

   

cd EGR53

mkdir labT
cd labT

cp ~mje7/public/EGR53/labT/*.tex .

mv Example.tex TestFile.tex

latex Testfile.tex
% or: latex TestFile

xdvi TestFile.dvi
% or: xdvi TestFile

dvips -o FileToPrint.ps TestFile.dvi
% or dvips TestFile.dvi -o FileToPrint.ps
% or leave .dvi off dvi file and .ps off ps file

ggv FileToPrint.ps


